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Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

Ry ReR (aguer RweieR) fFa mor o1 fier 32
1. Mood / TR (48)

2. Learning / 3R

3. Personality / SAfad@

4. Thought / fa=R (dTe)

Correct Answer :-

« Mood / TG ()

2) Which of the following best describes the Theory of Mindset? /

Frafafaa & & oF-w1 aaRea & Risia 1 9a9 sresT quiF FdT 82

1. Fixed mindset stops cannot be changed / fRR AfyEar favm (ﬁﬁﬂ%’ Tﬂ%%@'c’ E‘T’C{) Pl ggar ERRSIRSEIl %I
2. Fixed mindset only brings failure / fRR TFRIGT (fhas AE=de) Had BT ol 71

3. Growth mindset defines Intelligence / Wi AT, §f& &I TR BRaT 31

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /ﬁ'@fﬂﬂﬁlﬁl Wﬁ@m@ﬁm%mﬁé@ﬁ% ﬁ‘iﬂ?ef
IR ARy §F T SR et 21

Correct Answer :-

« Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /uﬁzmﬁw, &mwﬁwmw%wﬁé@?ﬁ%, gwﬁ
3R A fd g9 &1 SigeR I B

3) Which of the following is a social-learning theorist? /
frafafad 4 & 19 v amifore-Riam Rigid 82
1. Bandura/ ST

2. Freud/ Th1IS

3. Wundt / gUc

4. Pavlov/ TTaA

Correct Answer :-

- Bandura/ Sg1

4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

FEL 1198 B =it § 3R 98 UAF Wik IRa a¥g B g¥ BEdl 81 T gRT SaURN e ufthar &1 1 a1 wiplas wura famar war 82
1. Analysis / IEESLWI

2. Abstraction / GFI%UT

3. Generalization / JHI-IDH T

4. Experience / 3JHd

Correct Answer :-



« Abstraction / S{HfcTHIUT

5) Learning is generally considered a lasting change in behavior based on:/
IrATId: T, e wR s soaeR # ve wurdt ufvad |/ o @:
1. Challenge and reinforcement / ﬂ:ﬁﬁm @Tm

2. Challenge and experience / ﬂ:ﬁﬁm 3R STHT

3. Practice and experience / 3% 3R 3Hd

4. Practice and challenge / 3T ﬁ?ﬁ:ﬁm

Correct Answer :-

 Practice and experience / 3T 3R STHd

6) The concept of “inner speech” was introduced in language development by: /
YTHT & AT | “3iafie UTIor &Y SR 57 GRT SIRH Bt 18 Ai:
1. Piaget / s

2. Chomsky [ARDHT

3. Vygotsky JEIRSIISE |

4. Skinner /AR

Correct Answer :-

* Vygotsky /AT

7) Algorithms and Heuristics are the strategies of ./

Fad fafyr (Teifven) 3R erawur (ggifeaw)_ 3t Jorifemi €1
1. Teaching / Rreor

2. Problem Solving / JHIT JHTYTH

3. Learning / HfTH

4. Thinking / f&ia

Correct Answer :-

- Problem Solving / FHIT JHTYTT

8) Which of the following statements is true? /

e i s My a2

1. Growth is only a mental process / 3G Had T RIS UiohaT gl

2. Heredity doesn’t affect the learning process. /3{aifRidbdT, 3 uferan & yuIfad el Bt 71
3. Development is only a quantitative process /[d&mH, Paq T HHATHD UfshaT 31

4. Learning is a process of behavioral changes / SfITH TR URad-l o ufhar gl

Correct Answer :-

« Learning is a process of behavioral changes / 3T TR URad-l ! Ufhar gl

9) The ability to apply a given general principle to a particular situation is called ./
foreft oy uftfRufa & et faw o v Rissia &) @ &3 & ermar &t PEIAEIS
1. Inductive reasoning / 3 THT ?‘173%

2. Exceptional reasoning / G'H'CIETW ?‘I%



3. Deductive reasoning / TR deb
4. Logical reasoning /?ﬂ% ab

Correct Answer :-

« Deductive reasoning / AT dd

10) What form of learning is displayed when children imitate the violence they see in their favourite video games? /

SR ST B A1 &Y YeRid g1 8 o9 9= 39 01 31 Toa Iard & ol 3 3 ywdier difsal 9 # 3wd 82
1. Operant learning / FRaTORIE S1RFTH

2. Observational learning / AT SHTERTH

3. Conditional learning / 3Sfed HfeATH

4, Latent learning / 3o AT

Correct Answer :-

e Observational learning / 3qars AT

11) What involves the repetition of information so that it moves from the short term to the long term memory? /
a1 1 gRIgRI & 1 ARG @ a1fe a8 ag-a1ei & d.wreia Wi 7@ a2

1. Coding / HT HhcHROT

2. Rehearsal /t@fu?ﬂ'ﬂ

3. Chunking / i

4. Storage / UGl

Correct Answer :-
¢ Rehearsal / u@‘mm

12) Differences in behavior between two cultures can be attributed to: /
3 Ypfaal & Sl sadeR o 3faR & fore 3 ISR |l oI YohaT §:
1. Geographical background / Wfers qmgfb{

2. Socialization /AHATSIHROT

3. Heredity/3MTJafRraar

4. Environment / dTcITaR Ul

Correct Answer :-

« Socialization /FHTSTEHROT

13) Piaget developed important stages of cognitive development. /

ATy faey . wgayul @R fawiia e
1. Five /U@

2. Eight / 3118

3. Four /AR

4. Three /dF

Correct Answer :-

e Four/dR

14) It is easier to deal with all social situations, if you are aware of your It arfore fRufaat 9 e s %, Uﬁ 3T 39 & IR A Sd %-I
1. Interests / =



2. Talents / Eﬁ"ff
3. Personality / fadd

4. Hobbies / Sid!

Correct Answer :-

o Personality | fdad

15) IQ scores are generally __ correlated with academic performance. /
STHAR R AfZd WP 10, Qe ve S ay_ gedagha g €
1. Least/ ®H

2. Highly / 3ic@fii®

3. Moderately / H&H U I

4. Perfectly / @ e

Correct Answer :-

« Highly / 3%

16) Which part of the brain is responsible for thinking? /
Ai&TS 1 B A1 W i & g mer 22

1. Medulla / FSTT (A g

2. Limbic system / SUdegpeig aF (fftas Rew)

3. Cerebellum / SFHRTSS (ARSewH)

4. Cerebral cortex / Wa@'_c' (@i—ﬁ Eﬁﬁ?\q)

Correct Answer :-

« Cerebral cortex / WW @W EF\%W)

17) Which of the following is a part of our working memory? /
FrafafEa & § o7 sardt sriha wifs @1 ve R @2

1. Central executive / LI HRGR

2. Declarative memory / SO Wl

3. Semantic memory / Wﬁﬂﬁ

4. Sensory register / ot Wferex

Correct Answer :-

« Central executive / HET HRAGR!

18) Which of these classroom practices may undermine pupils’ motivation at school? /

T A P Fa&m & T femery A faenfial 6t 9Ron &Y w7 w7 gt 82

1. Teachers fail to notice students’ difficulties for remediation / ﬁT&‘W GRIT ﬁ%ﬂfﬁ 4| 37—%_"11—5?3!3[ Cal ]%F:{I:T PP %I'Q I QE?IH%T o 3 pd RGRIN

2. Teachers grade pupils’ competence as high / R WWﬁW q 3fiw ﬂ‘s’é:nl

3. Teachers encourage low performing learners / Rigrep gr1 A U&= F A sifrHearan &1 LIRSS RED

4. Teachers judge high achievers as excellent in high academic standard / Rere gRT 3= Reifors A o JpTdl & ¥9 H I IUAT YTt B a1l ofel BT

Correct Answer :-

o Teachers fail to notice students’ difficulties for remediation / fQTW GRT ﬁgﬂﬁﬁﬂ 4| ?b_%_"l'l?gtﬁ Cal ﬁ?{l:f A D ﬁm 3T QE?ﬂ:ﬁ ¥ 3 md gl

19) Which are the two Associative Learning theories? /

3 TRl aftrm Rrgid 1A ?2



1. Classical Conditioning and Operant Conditioning / TR Gﬂaﬂ:[ (?WIT@!W mﬁ"'ﬂ SR guTet 3@@' Yq (\'ﬁ‘ﬁ?f mﬁ"'ﬂ

2. Classical Conditioning and Oppressive Conditioning / RAT Gﬂa?ﬁ (aaﬁw mﬁr[) 3R G_(Cﬁ@fb_ Gﬂa’iﬁ (&ﬁq‘@a W&ﬁ*ﬂﬁ"ﬂ
3. Classical Conditioning and Operative Conditioning / AT 3 (aaﬂ%w mﬁﬂ) R m 3 (W FHoIRIT)

4. Classical Conditioning and Observant Conditioning / IRAT SIS (ﬁﬁﬁmﬁﬂ) 3R faeiid 3T (G{Wﬁm

Correct Answer :-

e Classical Conditioning and Operant Conditioning/w GHH?F[ (aaﬁwa% ST 3R TrTet eﬁau:r (GW H)

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall. Which stage is this approach? /

A15a ¥ e & a1e Ahg iR T §, 3NRIT a8 Wit @ fop Wit & e & a1 wibe oik @ ¥ 1 Ue e wivr i sram H 22
1. formal operational stage/ SO TihaTEHD =T

2. concrete operational stage / ¢l SfohaTaTd AT

3. sensorimotor stage / SYLIHICR AT

4. pre operational stage /9@ WA AR

Correct Answer :-

« pre operational stage /‘13; RIERICCRE LR

21) Eysenck added a third dimension to the personality trait, which is:/
3T3AP A TR P TH dIEY ATATH B 91 D1 8, Ig PIH-A18?2
1. Agreeableness/ HgHdd (WQW)

2. Conscientiousness/ Sidfddeiiadr (BI=iaga)

3. Neuroticism/ RIfesH
4. Psychoticism/ TTgdIfesH

Correct Answer :-

« Psychoticism/ Qrgdifeed

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting. What problem could the child be facing? /

wgﬁmﬁ%mmmquﬁwmaﬁ?Wﬁzﬁwasm%maﬁ%mﬁtﬂaﬁmvﬁmwﬁm%lWﬁ)—amﬁvﬁ
TETENT?

1. Dysgraphia/%w%aﬂ

2. Attention Deficit Hyperactive Disorder / &TFTHTE Ud sifaafoaar fdeR
3. Attention Deficit Disorder / & YT fAhR

4. Autism / 3fffeed )GI'I?:IﬁTﬁ_a'(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / FTHIG Uq srfaaferadr faaR

23) Who among the following is a humanistic theorist? / ﬁ'ﬂmﬂ' -] ﬁ ﬁq Th Wﬁ]ﬂ ﬁlm %?
1. Sigmund Freud / s wrrs

2. Ivan Pavlov / 2d19 ICRIG]

3. Aaron Beck /@?W

4. Carl Rogers / BT Ao

Correct Answer :-

« Carl Rogers / Pt Aot

24) Attitude towards learning is best defined as something that ./ St & ufa Ef@?ﬁ'UT P I St Ao F T & yRuriya fomar wmar % i %I



1. can be modified only by the learners themselves/ Fad Rrenfial gr g1 SN fovam s v

2. can be modified with age/ 3T & T N foa S weha

3. can be modified by creating positive learning environments/ JhPRIHD ST qTATaRUT SRR SN farar o Tepar
4. cannot be modified/ TN TGT [T ST Thell

Correct Answer :-

« can be modified by creating positive learning environments/ b RTHD SITRRTH ATATaRUT SR =NTerd faraT i edr

25) Round Robin Charts are used as a formof ____ ./
ISsAfaE_ FEudAuge fprama F

1. Summative Assessment / TR SHTHTT

2. Diagnostic Assessment / e e

3. Interim Assessment / 3fdARH 3THET

4. Formative Assessment / XIATHD Th -

Correct Answer :-

o Formative Assessment / XdATHD b

26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial ______ among student /

TS & Feaf § BT & 91, Tiplad, A R AT 31 U faRqga y@ar g1 &1 GUEa 2|
1. Dynamic / Tfgparar

2. Similarities/ JHTTY

3. Diversity / fafaerar

4. Continuities/ PRl

Correct Answer :-

D Diversity/ﬁﬁﬂ?ﬂ

27) Giving a stimulus to a child once to motivate him/her is:/

TP 7= B Ia B & fore 39 S v e g @
1. Continuous reinforcement / TFRER E@IHRUI

2. Operant conditioning /3{TRT eI

3. Reinforcement / JEGIHRUI

4. Neutral stimulus / TC&J I

Correct Answer :-

« Reinforcement /W

28) As a teacher when you are working in a inclusive class room, your role should be: /

T e & U A 99 37 TP TUTARN H&T § HTH $T 2 8 8, @ Mt Yfiret gt =fge:
1. Punisher /&8 o arar

2. Care taker / GEHTA G aTell

3. Investigator / VS

4. Facilitator / ggTIDH

Correct Answer :-

« Facilitator / ggTdH



29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude test? /
qi9 TP Hisd gaTs JeTo &I U HIY 3G qhd @ I’ g YA, AMUGRT udieror 1 {5 faivar o1 0% 82
1. Clerical thinking / it fRiaw

2. Spatial thinking / T fefa

3. Organisational thinking/wm:[

4. Intellectual thinking / Eﬁmﬁlﬁ:{

Correct Answer :-

« Spatial thinking / RITfA® RRida

30) What is the term used to denote the basic, innate disposition of a child? /

T = & Yd, TTd WUTT B A= fid $3 & fore fan ug &1 wain fomar siman @2
1. Personality / Hfdaa

2. Temperament / TS fal T fErstret

3. Disposition /3|

4. Attachment / Fe

Correct Answer :-

o Temperament / m a1 &IW

Topic:- General Hindi (L1GH)

1) F- Ft F oA i ot wdten A<t € a1 e & e 6 a7 @ e § ) 7 @ A F6 v A i e 9 R w916 a1 33 399 4T, «omua e
@1 “HE W At TEY,” ST oTaTd AT Y3 95 e T G FiTeh H 3rd 3 XE b SwRl B 3N7fe 8 g §1 W7 fAyr | b R il 9t 3@ @ &, A sga pu dma €
HT 95 WU 3 & War $IE oF1a & "er wR g o R +ft B e e 71 3@ 9 - O 7o off feard =1 - st e i el 8, R A g v weam Al )

IR TR $1 UgHR T TR T Y BT IR 4Tl
UY: ‘P WY ol TP @ b1 e {2

1. TiaT

2. ffapfdd

3. faxiy

4. 9FR

Correct Answer :-

2) ®t I & 3 i A wften At § o1 wEA F g 98 T da €1 T € A 2 v g i o 31 &R A & 91 aruw il 3 39 U9, «3iMu Tl
T “$ TN A 8, ITHT SIaTd UT| TS T8 SERe Te1 g R & o 39 e S S B o1 81 gt §1 Av1 Ay 2 o Ry it Y oif S it ¥ A sga s dma
T 9E HUT § T WaT SIS oivrer & der 4R gl 3R e oft B fadie e =1 3@ 39 - P 7o o RS =dt aar- Aoel Tue 9w firard €, Rt § g s vgaH adl g1

SUYe T B TgHR 2 IR T Y BT IR T3¢

WY: I 37 i A oiva & IR F gl 32

1. ST 7 1 S|

2. STE & B iy

3. ST H T g

4, ST forg SR T

Correct Answer :-

. StTer H R 3|

3) FW- Fl & oo st Y wdien AN § o1 e F e 7% 98 71 @ T wra & ° A8 v oy i oira IR B F a1g 1o didl | BT SR UT, “3Tue -t
@12 “HS W A TEY,” STBT SATd 4T | T3 g 3R Tg1 g Fb & 3d 39 kg S I Bt 1M 31 g) {1 IR faeyry B b R ool ot sifd gt 8 A sga sw 3w §1
HITYE THT & T Ue B oire A veT WR g 3R bR oft 1S e e 71 3@ 03 - P o off feard 7Y A1 gl Ve i et €, R & g a- vga A €1



SUYH TR DI TgHR 1d G TT ¥ BT I garsul
TY: Q9§ TR 98 ol B F ugaTe 82
1. I wft

2. 3@IR

3. SIAHR

4. QB

Correct Answer :-

4) FW- Tl & oo Rt Y oden AR § o1 R F g 7% 97 71 @ ¥ wa @ F A9 ve frg R sira 9t R BA F a1g o el | A SR UT, “3mus Fan-an
@1 o W T8, ST STaTa AT | H) T5 (e T8} ol FlP & 319 59 a¥8 S Swdl Bt 3nf 81 gt §1 A Ryrer & 5 R il oY offd €1t €, 3 sga v 3w &1
T I8 WU & 5 W1 #IS oira § der wR g 3R i oft B iy e 7 3@ 13 - O 79 off e =Y 3an- Aot T i frerct €, R f g s wga Al 61

IR TR 1 UgHR T TR T Y BT IR a1

U U o1 fadH g g2

1. 3HUT

2. Qi1

3. 3y

4. 419

Correct Answer :-

5) St I & 3= o Y wften At § o1 wEA F g 98 T da 71 T € A 2 v g i ora 31 &R A & 91 aruw il 3 39 gs, «3iMu
F@1? “HS W A TEY,” STBT AT 4T | G 5 3RS T81 g Ffb & 3d 39 9Re S I Bt 31fe 31 g} §1 IR faeyry B o R ool ot oifd et & A sga sw 3w §1
T 98 HUT § T WaT SIS oivrer § Her 4R g 3R e oft B fasie ey =1 3@ 43 - P 7o o i =dt aar- Aosi Tue 9w firerd €, Rt § g s veaH adl 1

I TR F1 Ugeh? ) TS T ¥y BT IR garsu|

uy: 31 8 oM | a1 2

1. 3Ry g1 AT

2. 3R g1 S|

3. 3fd g ST

4. 3MTed g S|

Correct Answer :-
o HIGd B ST

6) FW- Fl & oo Rt Y wden AN § o1 WA F e 7% 97 71 @A T wra & F A9 v oy i wira IR BA F A1g 1o el | B SR UT, “3TuR -t
@ S W A TEY,» ITBT SIaTa AT | T 5T vt L g FITp & ofd 37 av8 ¥ IR Bt 31fS 8 g § 1 AT Ry R e Ry il At oif@ 1 § A sga sm dma B
FITYE TUT & T Ue B oirer A et WR g 3R bR oft 1S famdlw e 1 3@ g - O 7o off feard 1Y A1 gl Auw i firaht €, R & g - vga= A £

IR TR $1 UgHR ) TR T Y BT IR Iarsu|

T U Tern B fry sTg 1 Rmor fsar mar @2

1.7

2. ST

3. SR aHt

4. R

Correct Answer :-

7) & Ff A 3o Rt Y wften A<ft § o1 wEA F R fF 98 7 3@a ) wa & A 38 ve g i sa 1 R w9 F a1 arow @) A ST g, <3 wnan
@2 “HB W Y TEY,” STBT WaTd 4T | g3} 95 3RSl A1 g3l b & 3d 39 e S I Bt 31T 81 YT § 1 7 fayry @ o R ool ot o St &, A sga vw dma €1
1 9E WY § b Yol IS Sivrer & HeT W’ g ok fibe oft B fady fier 1 32 ) - R o 1t i et 3t sl Qe vl firerclt €, R f g e v ad §1



SUYH TR DI TgHR 1d G TT ¥ BT I garsul
TY: ST $T qafaar e 82

L 3R

2. faamer

3. fagn

4. 99

Correct Answer :-

8) FW- Hf & oo Rt Y wden AN § o1 WA F g 7% 9 71 3w ¥l wra @ F A9 ve frg Ry wivra 9t IR BA F a1g IO el A SR UT, “3Tas -t
@ <P W A1 TEY,» ST SIaTd UT| HS) T8 SrEvs Te1 g3 i1 A 3 9 a¥g & Sa¥l 3 3fe 81 gt 1 TRy & P R i A i@ e § A sgasa I &1
T g WHE § b HeTl B oiTer A et W R ok iy Wt o fade e 71 3 @ - R o oft R =18 3an- et A il firerelt @, R A g e wga i )

IR TR 1 UgHR T TR T Y BT IR a1

7y R Fo i e 78 T e A e 32

1. 98 99 Tol qbdll|

2. 98 ST g1 wepelt|

3. 98 4W 8] Il |

4. 98 G 7761 Il |

Correct Answer :-

. T8 W TEl Al

9) ®I- wft & 3 it Y wdten A §, 91 e & R fp 9 7 3w §1 7 € ¥ 99 v g i s 3 O A F a1 arow || 8 3R gBT, «Sius SR
@1 o @ Al TEL» ST STaTd UT| Y3 Igd Srawsl Tei gl ifes A 3 59 a¥g & Sl B 3N1fe €1 gt §1 IR Ry o R ol Y aif@ €1t €, d sga sw dma €1
T 98 HUT § T WaT SIS oivrer § Her 4R g 3R e oft B fasie ey =1 3@ 43 - P 7o o i =dt aar- Aosi Tue 9w firerd €, Rt § g s veaH adl 1

ST T B TgHR 2 IR T Y BT IR T3¢l

wy: TR frar 32

1. G fora

2. GHYD SR D T

3. TN AP TaT

4. 3t foma

Correct Answer :-

. od® fear

10) FW- FW & 3= A 3t wdtenm AR § o1 WA F o fp 98 7 T ¥ wra € A F6 v g i s 31 R wR & a1e 9o |l | B I gBT, “3MTu -
@ S W A TE),» ITBT TaTa AT | G 5 vt T8 g s & ofF 3 avE ¥ ST Bt 3N1f2 &) g § 1 A1 Ry 2 e Ry il it oif @ 1 § A ga sm 3w B
FITYE TUT & T Ue B oirer A et WR g 3R bR oft 1S famdlw e 1 3@ g - O 7o off feard 1Y A1 gl Auw i firaht €, R & g - vga= A £

IR TR $1 UgHR ) TR T Y BT IR Iarsu|
wy: R o1 waigardt g T8 72

RS

2. Wi

3,941

4. QI

Correct Answer :-

11) FW- FW & 3= A 3t vdten AR § o1 @A F o 5 98 71 @@ ¥ 7w € A T ve g R o 1 IR F & 916 o A1 AT IR g, «3mun wn-an
@2 “HB W Y TEY,” STBT WaTd 4T | g3} T8 3RS A1 g3l Fih & 3d 39 e S I Bt 3011 81 YT § 1 7 oy @ o R ool ot 3T gt &, A sga vw dma §1
1 9E WY § b Yol IS Sivrer & HeT W’ g ok fibe oft B fady fier 1 32 ) - R o 1t i et 3t sl Qe vl firerclt €, R f g e v ad §1



SUYH TR DI TgHR 1d G TT ¥ BT I garsel
TY: <3RS T ATy 82

1. DRI

2. 3MeRt

3. 3RO

4, AT

Correct Answer :-

. omed

12) FW- W & 30 frelf 261 wllan At €, 71 e & g 6 75 71 Twad €1 w1 8 H A v Ry B e 61 IR A B 916 9o it #Y 3 gp, <enmu s
@ “HE W T8, ST STaTa AT | H) T5 e 781 ol FMP & 319 59 a¥8 S Sudl Bt 3nf 81 gt §1 A Ry & 5 R ol oY offd €1t €, 3 sga vw 3w &1
T I8 WU & 5 Y1 $IS oira § der wR g 3R i oft 3 fadiy e 7 3@ 13 - O 79 off e =Y 3ar- Aost T i frercht €, R A g s wga Al 61

IR TR $1 UgH? T U T Y BT IR ars|

us: fr1 &7 9gae g g

1. fot

2. o

3. At

4, Tyt

Correct Answer :-

RIS

TR WA RIS
FADT Sl 3R-3R

FHoygarerar

e,

sgafege

W 3UR 79 & g g

TEeh Hogad! Hre -

g HH 3T

WaTH w2

ST UL B UgHR 14 UD W aTd WY BT IR a1y
UL: 5501 ST UGIgam g 82
1. SIRTYAT

2. Qi

3. ST

4.\

Correct Answer :-



T 4 It
Heh-3 wrt
w0 § A S-em 2
RIS
T W UG R BSII
FABT Al iR-eik
ot
o,
RERAER I
T o w1 & B3 gul
Tgeht Hogaeh e -
g S gt
AT ot 2
ST Ui B Ugeh] 1Y I S aTel U T 37 qargq|
TH: WA $1 e Weg a1 32
1. 39
2. 3T
3. G
4, 9T

Correct Answer :-

ERLICKE

T W Uia RS I
FADR aell AR-3MR
Foyarerar

e,

Tgd i §¢

T ST 71 & O QU

Ugelt woydet Hia -

7§ HR 3T

WAt

ITT U= B UgHR 14 IS WH a1 U BT IR a1y
T Yo $81 FRUd gl 32
iicd

2.5

3. 3

4.8l

Correct Answer :-

o

o Y



RIS
RN TR BTN
AP arelt 3R-3MR
-
e,
T A §W
T o w1 & o3 QU
uEeh Hoyadt Hie -
g S gt
WA H ot 2
IUYe Ui B Ugeh] 1 I S aTdl U T 7 qargq|
TR: <30 IR IR TS T Gerak &1 Ad g
1. ffrafid g
2. FREG B
3. SfHHG g
4, W@qad gl
Correct Answer :-
. Wraaet g

17) wogad

T @ gt

et wm

w0 § A S-em 2

RIS

T W uia WSS N

AP aelt fR-3MR

Foyafrar

e,

9ga feT e

TH 39 71 & B¢ Ul

uEeh oYt Hie -

TE i 3ot

WAt

ST UL B UgH 14 IS WH a1 ¥y BT IR a1y
W frad w9 § Ay Tadsar 3 g7 il
1. Ugdl Bagdet

2. TTHIADE Tal

3. M

4. 4T 3R Ugel HagAat Gl



Correct Answer :-

. TgaH Hegdat

FR Al

TP UG RIS

FADT Sl 3R-3R

FHoydferar

e,

Tgd A §Y

W 399 79 & §g g

TEeh BoYad! Hre -

T FH g

WA A ot 2
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1. IR R AT
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3. 307 U719 R 7 GST g1
4, 30 Ufd R GSTEHTI
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Topic:- Mathematics (MAT)

1) From the sum of 2m?2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the sum of 6n2—m?2 — 5p2 — 4mn and —-m2 + np + p2+2p. /
2m?2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 €d 5n2 + 4np + 2p2-p & GT & & 6n2 —m?2 — 5p2 — 4mn TG —m?2 + np + p2+2p & TNT & GeTT|

1. 11m2 +8n?- 4p2 -4mn —2m?2 +6np + 2p

2. 3p2

3. 5p2 %+ 8np

4. 8n% - 5p2-7mn —2m2 + np + 2p

Correct Answer :-

. sz n?+ 8np

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of rope required? /
Tw B 200 Wex YoiI F TH-VCY ATHR aTd YES & 918 T I1gdl 8 1 3HS 1Y ATaxas Wl Bt ot waTs fea-i gl
1. 1400 meter / 1400 Hiex

2. 1000 meter / 1000 HeR

3. 600 meter / 600 HieX

4. 1200 meter / 1200 e



Correct Answer :-

« 1200 meter / 1200 ez

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he sells the tea set at 5% gain and the lemon set at 15% gain
he gains 17. Then the actual price of the tea set and the lemon set? /

10% & ATH TR Teb &1-3< 3MX 20% & A1H W U Ydd-9¢ 991 W, Th I} fdshdl 26 TUY BT AT U T ¢ 1 Ul 98 5% & ATH R -8 TUT 15% & dH W)
Trdd-Ye ST 8 A ¥ 17 IUA BT A1 U e B, A -Je v 2da-Ae $1 arafas 9 8?2

1.75, 80
2.200, 100
3. 100, 80

4. 150, 120

Correct Answer :-
« 100, 80

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one bottle costs Rs. 98. /

TS Elcd &1 U Jue § 91 §ida da ®1 ATaaHdl gial 81 afe TS siddl 31 anTd 98 $UA §, Y 58 3T & RIw naxg® 9@ 91 arTa 3 B3|
1. Rs. 72384 / 72384 ¥0

2. Rs. 75460 / 75460 =0

3. Rs. 75400/ 75400 ¥Ud

4. Rs. 73892 /73892 =Ud

Correct Answer :-
«+ Rs. 7389273892 =0T

5) Breaking up of the mathematical concept into smaller parts is termed as ./
T @R B Bt R & dier FET AT 8|

1. synthesis /w

2. analysis /ﬁsﬁw

3. inductive / 3FTHA

4. deductive / R

Correct Answer :-

« analysis / fa=awor

6) Fill in the blanks. /

e ®IF W

I-53+__ =53

I[11 + (-14)]- () = () + [(-14) + (-9)]
1.1:0, IT: -9,-11

2.1:0, I: 9,-11

3.1:53, II: -9,11

4.1:106, 1I: 9, 11

Correct Answer :-

« 1106, II: 9, 11

7) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /

i TP TH APYS BT URATT 320 It B, df U TH Yol Bt Aa1S 8:



1. 60 cm / 60 ¥4t
2. 80 cm /80 T4t
3. 40 cm / 40 94

4.70 cm /70 94t

Correct Answer :-

« 40 cm /40 R

8) Which of the following will give a whole number result? /
fraferfed & ¥ SF-91 uRom & wu § v guf Twemn 3me
i. 6-2

ii. 6/5

iil. 0x3

iv. 7-9

1. AN, i, i, iv /3 i, i, i, iv

2.i,and iv/i, T iv

3. Only i/ &Had i

4.1, and iii / i, T iii

Correct Answer :-

o i, and iii /1, T iii

9) A conjuncture is a statement which we believe is true, based on mathematical intuition and if we proved it, then it becomes a ./

Wém(m)wmuﬂ%mwnﬁﬁ%'%ﬁm%,@Waﬁhwmmﬁa%aﬁ?mmsﬁmﬁawﬁma‘rww T
EiciE]

1. postulate/\}ﬁfﬁl Y
2. axiom /W@l&'m Jgid
3. theorem /uﬂu

4. statement / HYT

Correct Answer :-

o theorem / g

10) Amicable numbers is discovered by .
Tfrbad AR F @i FRI S TS

1. Euclid / gfaas

2. Thales / Jq

3. Pythagoras / m‘s’uﬂﬂw

4. Plato /ﬁ?ﬁ

Correct Answer :-
« Pythagoras / TTSYTIRYT

11
) Ifu, = x,—900,% fiu,= —400,% f; = 100, then x= i

]
AR u, =x; — 900,% fu, = —400 5 f, = 1008, ar == .
1.984
2. 546
3.782

4. 896



Correct Answer :-

. 896
12) i,
Evaluate : = 2then x is:
x“+2x+4
&, & xS_B — b
Hedlcha Gy T 2%, arx ?
1.2
2.1
3.3
4.4

Correct Answer :-

13) A PQR and ALMN, PQ=NM, £P= £M. The two triangles will be congruent by
SAS axiom if

APQRUT ALMN #, PQ=NM. 2/P= /M §| HA-HI0T-41T gl ggr &
e watows g afe:

1. QR=ML

2. PR=ML

3. QR=MN

4.PR=LN

Correct Answer :-

« PR=ML

19 Inthe given figure, O is the centre of the circle, £ 0AB=60° and the radius
of the circle 6 cm. Then the area of the triangle is:

few sv @iy &, 0 gea #1 FF 8 2£0AB=60°3HR Fea Hr fF=aw
6T &, O TR FT e

A B

9v/3 cm? / 93 THE
13v/3 em?/ 13+/3 THE

7v2 em? f 72 FE2
3.

4.6cm2/613-ﬂ3ﬁ2

Correct Answer :-
9v/3 cm? / 93 THE



In an equilateral triangle ABC, AD 1 BC,A4AD? = xBC?% then x =

Uﬂ:m@ﬁsﬁ ABCH, ADL1BC.AD?=xBC: dl x =

4.4

Correct Answer :-

| W

16) i
If @ and f§ are the zeroes of the polynomial 3x° + 5x + 7, then%-i-j% is

aﬁauéﬁa—g'qasxf+5x+?a:gm%=ﬁ%+§= &1

1910
2101

190

343

37
82

243
310

Correct Answer :-

190
. 343
17)

If the side of the equilateral triangle is 4+/3 which is inscribed inside a circle . then the area of
the circle is:

af wHarg Rl 6T o9 4V3 § S W ged & IR 3ifd 8 A ged & A g
. 36mem?/36n e
, 16m cm? / 16n HH?

9r em?/ 9 THP

157 cm?/ 157 HER

Correct Answer :-

16m cm? / 16n T2



In two triangles ABC and PQF. , AB=QR . BC=QP AC=FZP then:

ar sl ABC 3IRPQR#, AB=QR, BC=QP, AC=RP g d:

AACB
1.

Ile

AQPR

AABC = ARQP
2.

, MABC = APQR
, AABC = AQRP

Correct Answer :-
AABC @ ARQP

19 There are 30laddusin a plate. Anil took = laddus if 10 laddus remained balance. Choose the
matching equation.

v el # 30 @53 §1 st @ Jesg & fmm afE 10 @53 9w AR gt
gaferd TaiEoT & = S

Z_10=30
2

30-2+10=0

n

30+ 10=

2

30-2=10
. 2

Correct Answer :-

30—-=10

ABCD is a trapezium in which AB || DC. If arfAABD) = 24 cm? and AB = & cm, then the
altitude corresponding the side AB of AABC is .

ABCD & THerd 8, 588 ABIDC #1 afE(AABD) &I alahd =24 SGHP FarAB =8
I 8. @ AABCHT Hera o] ABHT FA15 __ R

1. 16 cm/ 16 9

2.8 cm/8 T

3.7 cm /7 94t

4.6 cm/6GH

Correct Answer :-

« 6cm/6H

21
) If PQRS is a trapezium in which PQ|RS and PS=QR .then:

afg PQRS U+ THed &, e PQIRS 3R PS=QRE, dr:
£LP=+,8

LP=+£R
2.



£Q= ¢S
3.

LP=1Q
4.

Correct Answer :-

ZP=1sQ

22)

If @ and § are the zeroes of a quadratic polynomial x? — 3x + 7, then the quadratic polynomial

whose zeroes a.re% and%is
I o« Td B SfaTTd aguE x* — 3x+ 7 & YT &, A S g,miua'% G
gfaard ague 2l

1_x2—3x+?
2_?x2—3x—1
3. Tx%+3x +1

4 Tx*—3x+1

Correct Answer :-

Tx?—3x+1

23) The average temperature of Monday, Tuesday and Wednesday was 75° C, while the average
temperature of Tuesday, Wednesday and Thursday is 77° C. If the temperature on Thursday was
76° C then the temperature on Monday was ---—---——--—--—— :

HIAER, AIeaR 3R gear &7 3id aeane 750 dfcwaw o, FafE AeER, gUaR
3R TEaR &1 3id deAER 77° AHaE ol 9fE TRAR @ dA9AT 76° Hiewiad o,
ar HHAR & dTaA o

70°C

72°C

(113)%+(279)*
(113)2-113=279+(279)2

1.113
2.392
3.279

4. 639

Correct Answer :-
« 392

25) Choose the number divisible by 6. /



6 W fuira g1 arelt I &1 999 $¥
1. 2281
2.2148
3.2186

4. 2108

Correct Answer :-

e 2148
26) Choose the true statement about expression 4a3 — 37bc. /

WF a3 — 37bc F HY H WGt FUT BT 7999 B

1. a, b and ¢ are the three terms of 42> — 37bc. / 423 — 37bc F A UT a,bWdc !

2. 4a3 and 37bc are the two terms of 4a3 — 37bc. / 4a> — 37bc & &I UG 4a’ Td 37bc gl
3. 4a3 — 37bc is monomial. / 4a3 — 37bc W%I

4.4a3 —37bcisa polynomial. /4a3 —37bc QH?EIEUE%I

Correct Answer :-

« 423 -37bcisa polynomial. /4a3 — 37be WW%I
27) Find 222222 x 15. / 222222 x 15 1 HI|
1.3333330

2.3333335

3. 3444450

4. 4444440

Correct Answer :-
e 3333330

28) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the number is: /
TP W@ B! 7 | 0 H W 3R I9F & 36 " W uRumt T w@y o1 i [ 8 ot 8, o ween ¥

1.9

2.7

3.4

4.8

Correct Answer :-

29) Using the divisibility test, determine which of the following numbers are divisible by 8? /
Rvreritaar sira 1 SuaR v, Fuffa o 5 Fafifee 3 3 F9-30 e 8 3 e &2

1. 68324

2.98780

3.74612

4. 37136

Correct Answer :-

* 37136



30) The term synthesis in the Bloom's Taxonomy is revised as ./
A & TR | Xeg HRAYO B F ¥q & Y= far mar g1

1. Analyzing /f&%?ﬂm

2. Evaluating /W B

3. Creating /ﬁﬂfUT GRCH

4. Applying / AR PRAT

Correct Answer :-

o Creating /ﬁ'ﬁl'fUT CC]

31) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the area of remaining part of land? /
7 ex 99 3R 450 I NS YA F TP gps W 1 Hiew Yol 914 11 TR T T91¢ 91 & 1 YfY & A9 T 71 e v @2

1. 304 sq m/ 304 FHER

2.9.5sqm/9.5 iR

3.20.5 sq m/20.5 TR

4.31.5sq m/31.5 FHe

Correct Answer :-

« 20.5 sq m/20.5 GHICR

32) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is stated by: /
TR, g 3t Tt 3R WRem Risia (TR @) v $Y e B 1 9 3% aRT FeT T R

1. Gauss /719

2. Bell /S

3. Fischer/w

4. Bernard Thomas / IS U

Correct Answer :-

o Gauss /ﬂVTH

33) What is the successor of 99999? /
99999 B TR TSI T B2

1. 1000000

2. 100000

3. 99998

4. 99990

Correct Answer :-

« 100000



35) The graph of the linear equation 5x+3y=-15 is the line which meets

the x axis at the point: /

XEE TS 5x + 3y = -15 BT UTH 95 AT 8 S x Her A 59 foig o frereh 2:
G-6)

1.

2.(3,0)

3.(0,-5)

4.(-3,0)

Correct Answer :-

36) The fourth vertex of a square whose three other vertices are (3,0),
(0,0) and (0,-3) is: /

TS 1 o1 9yt 2 Jra +Y, e e o= =i (3,0), (0,0) T (0,-3) ®:
1.(3,3)

2.(-3,3)

3.(-3,-3)

4.(3.3)

Correct Answer :-

+ (33)

37) The mirror image of (3,-5) in y-axis is: /

y-31& R (3,-5) BT 3401 wfafaa &:

1.(3,5)

2. (-3,5)

3.(:3,-5)

4.(5,3)

Correct Answer :-

38) Which of the following is the equation of a line passing through the point (12,-13)? /
Frafifaa 3 & o g (12,-13)  ToRA arel a1 &1 e 82

1. Ox+5y=11

2. 7x+5y=19

3. 2x-3y=-63

4, 9x-5y=174

Correct Answer :-

o Tx+5y=19

39) Immediate objectives are stated under ./

TPEASEW & saviaania gl



1. affective domain / HTdTHD U&l

2. connective domain / GGl T&f

3. altitude domain / ST (TeSIeYS) U4l
4. cognitive domain / TP T&f
Correct Answer :-

« cognitive domain / YD Y&

40) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC U qufgarg Aiys 8, o AB=7 @4t ok BC= 13 A 21 ¥ fpem Brywi divig &2

1.2

2.1

3.0

4, More than 2 / 2 § 3%

Correct Answer :-

41) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1./
A (3,-1) TG B (-3,-4) B Sl aTelt ¥@1 &1 2:1 F 3gura & fyurior a1 areht g p &1 =i ama :¥1

1. (1,-3)

2.(-1,3)

3. (-1,-3)

4.(1,3)

Correct Answer :-

42) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4). /
AT A (0,1), BO,5) T C (5,4) g1 ¥ Bryet 1 o yra 31

1.8 sq.units/83"'f3$l’§F

2. 16 sq.units / 16 CUECIH

3. 10 sq.units / 10 I SHIS

4. 5 sq.units / 5 UL

Correct Answer :-

e 10 sq.units / 10 a"'fg‘cb"lé

43) learn by actually experiencing or carrying out physical activities. /

Rd § 3IHT B4 91 IS nfafafidl &) 333 § draa 21
1. Kinesthetic learners / o= fR1&meff
2. Auditory learners / 40T fRremeff
3. Sequential learners / 3(IgpTAd fRremaff
4. Visual learners / T3 fRigmeff

Correct Answer :-

« Kinesthetic learners / o fRremeff

44) The area of square that can be inscribed in a circle of radius 6 cm is .



SaTiEaawa_ g, O ¢ I Brean archt ue gu & sianfa Spivl fpar s awar g1
1. 144 sq cm / 144 T I

2. 72 sq cm /72 o SRt

3. 81 sq cm /81 3 qut

4. 36 sq cm /36 G At

Correct Answer :-

. 725qcm/723"’ffﬂ3ﬁ

45) The great school Alexandria during 300 BC was formed by .

300 51 g4 & R WeH Wha seifsmdIfmior_ Fgrrfearmaran
1. Euclid / gfdas

2. Alexander the Great / Ridhax AgH

3. Pythagoras / UEYTIRY

4. Aristotle / 3R¥J]

Correct Answer :-

« Alexander the Great / & &R HgH

46) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-ordinates of the other end are .

TP T BT HE (-1,3) W & TUT M BT TH 3id T ISP (2,5) 8, dl g A BT FAgwin 21
1
4
2. (74D
5 (00)
4. 32
Correct Answer :-

. (=41

47) If the supplement of an angle is equal to itself, then the angle is: /
IS TF HI0T T VRS TG F TRIR ¢, A HI073:-

1. Acute angle /?EW

2. Right angle / GHSIU

3. Straight angle / o[0T
4. Obtuse angle / 3 HIoT

Correct Answer :-

« Right angle / GHGIT

48) When learners makes their own definitions, concepts and theorems, they are making ./
o g oot ufvumw, sauron R Ris@wd s g @a__ Fffa s g

1. precision / Qﬁfﬂ@ﬂ'[

2. generalisation / AT BT

3. accuracy / gyrfar

4, frequence / SRERAT

Correct Answer :-



« generalisation / gHfiHRT

49) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48, and 46. What is the
mode of the above data? /

TS T wfeaivaT ®, 15 ufauriial &1 e e o (3fRead 60 B) 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48 TG 46 § | IWRITA ST BT TgAP [P 82
1.44
2.48
3.42

4. 46

Correct Answer :-

50) Find the odd one out. /
o fava o Fra |

1. Radius / T

2. Chord / SitaT

3. Triangle / 1Y

4, Point/ﬁ'_\f,

Correct Answer :-

. Point /ﬁ'_q:

51) A primary prerequisite for the child's ability to count is: /

T @1 A Ft emar F fore ve wrafie od @:

1. None of these / STH ¥ ®Ig g

2. Fluency in place value concept / R HIH YR & ¥dTg &l |

3. Fluency in writing numbers / &1 ag-1 § UdT8 81|

4. Fluency with number word sequence / BT [eg S{IhH & 1Y TATE 51|

Correct Answer :-

- Fluency with number word sequence / TSHT X[eq 3 H & T YA Bl

52) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance with his ideals in his studio (the school)” was stated by: /

"UTeuadf T TR (R1g) & 1Y A T IUSVT ¢ oY SHP gfsal (Famaa) # 39 =il & gaR It ardt (@) & eraw & e g1, a8
PY TP GRI PET AT 8:

1. Cunningham / Hi-aH

2. H. Robert Beck / Td. Jec 9b

3. Derek Rowntree /%W

4. W. Walter Cook / S&, dlecX P

Correct Answer :-

e Cunningham aEie

53) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a 'one man's show'?/

T & U g & fore Fafafaa 3 @ $a- fafy Sfa 76 @ ®ife g8 s o sreuaar gl



1. Lecture method / TR faf

2. Heuristic method / ﬂﬂ'ﬁFﬁﬁm

3. Project method / afarsrr fafer

4. Laboratory method / SRARTRITGT fafd

Correct Answer :-

« Lecture method / SRS fafd

54) The Father of Indian statistic is ./
WRAA AifS@t S s 7l

1. Gauss /Tﬁq

2. S.P. Gupta / Qﬂtﬁtﬂfﬂ

3. P.C. Mahalanobis /tﬁ?{n mﬂ

4. Fischer/w

Correct Answer :-

« P.C. Mahalanobis /‘fﬁﬁ WE"TK_'Fm:a'H

55) How many whole number are there between 10999 and 11052? /
10999 T4 11052 & i fra-it quf Temt &2

1.49

2.50

3.52

4.53

Correct Answer :-

56) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with each side 5 cm. Help Anu by finding the perimeter of
the star. /

gmm%@iﬁmﬁs&mu@m5ﬁtﬁaﬁwﬁnmﬁ5w@zwm$a§wmmmmmél TR &1 9kATy J1d F1 § g F weraan
I

1. 50 cm /50 9t

2.15 cm/ 15 95t

3.75 cm/ 75 9T

4,25 cm/25 9T

Correct Answer :-

+ 50 cm /50 9

57) CANCELLED

If the volume of a vessel in the form of a right circular cylinder is 448 mem® and its height is 7 cm , then the CSA of the cylinder is ./
I TF T I I F PR I TP T BT TG 448 7 T3 o7 gt Fas 7 At 2, <t o 31 9% gy A H

1. 464 sq cm/ 464 it et

2.378 sqcm/ 378 it et

3.352sqcm/352 it et

4. 482 sq cm/ 482 i I

Correct Answer :-



e 352sqcm/352 Uil

58) CANCELLED

Psycho-motor activities under mathematics deals with: /
TR & Siaifa wTgel-Hiex Wafafktai & walm §1
1. All of the above /mﬂ"-ﬁ

2. Drawing only / Had @B (EETD

3. Manipulating only /WW (ﬁﬁ@éﬁﬂ)

4. Model making only / Fad Hred Ao (ﬂvﬁﬂm

Correct Answer :-

« All of the above /mﬂ’-ﬁ
59) CANCELLED

Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under multiplication and division.
2.Integers except zero are closed under addition, subtraction, multiplication and division.

3.Rational numbers are closed under addition, subtraction, multiplication and division.

Frafafaa sy w® R &3¢

1. 9IS 9 UeTd ¥ dgd guf = off o) dg frar wirar 8 Wy N vd AU &1 & agd 8t

2. I B BISHR WIS, U, N TF faUTSH & ded Quite &) dg farar simar g1

3. S, "eTd, TUN Te fauTeH & dgd ufag Wensail & d< farar Srar g1

1. Only statements 1 & 2 are right. / 9% BT | Td 2 TA &
2. Only statements 2 & 3 are right. / HIA HYT2 TG 3 T
3. All the three statements are right. / it T P T §

4. All three statements are wrong. / G i HU R |

Correct Answer :-

« All three statements are wrong. / TH I HUT I T

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx + y =5 represents two lines intersecting at a unique point? /

THBIT 4x — 2y = 3 T kx + y =5 F TP AR fig W Y wfe=d<l Y@maii 1 g=iiv & Rre 'k &1 ar fbamn 22
k£-3
k£2
k#3

k#-2
4.

Correct Answer :-

k=-2



